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Calculus II--------------Midterm # 1--------------------April 5, 2005 

 

Name of the Student:------------------------------No:------------------------------ 

 

 

 

20 p   1.  Draw the graph of the polar curve  
2 cos(2 )r θ=   for                          

0 θ π≤ ≤ .  Then calculate the area bounded by the curve. 

 

Calculate the two areas bounded by the two curves separately. 
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20p    2.  Determine the points where the parametric curve has horizontal and vertical 

tangents, sketch the curve for   2 2t− ≤ ≤ . 
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20p   3.  Determine the convergence or divergence of the following series: 
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20p   4.  Find the interval of convergence for the power series:  
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 The radius of convergence : 
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20p   5.  Find the first four nonzero terms for the Maclaurin series of   
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0)0('''    )2sin(4)(''' =⇒−= fxxf  
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